



이름: _____

날짜: _____ 점수: _____

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{3}{5} =$$



이름: _____

날짜: _____ 점수: _____

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{13}{18}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{21}{80}$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{3} = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{5} = \left(-\frac{1}{25}\right)$$

$$\left(\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{152}{45} = 3\frac{17}{45}$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \left(-\frac{7}{12}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \frac{9}{5} = 1\frac{4}{5}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{7}{10}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{4} = \left(-\frac{23}{36}\right)$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} = \frac{97}{4} = 24\frac{1}{4}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{3}{5} = \frac{77}{5} = 15\frac{2}{5}$$